S

Ae

0 C=
O ma=

18.000
29.600
35.700
0.000
1.500
27

6.000
200.000
46.608
17.330
1.780
0.140

5

270

94.971

21.071
10

1.880

0.40

Fa= 1,000 o ma Ae

0.6107
50
13.0

q

1500

kN/m3

kN/m2

kN/m2
kN/m

kN/m2
kN/m2
kKN/m2
kN/m2
kN/m2
m

7939.100 kN

m2
N/mm2
N/mm2

46.608 kN/m2

+
Pa

Ne3 No2 (Bor-No.

(1

(N<10);C'=8 (N 10):C'=5
x 10  N<15 150  N>50 500
x 10kN/m2 2x 10kN/m2
(p+y (H+Bc/2)) tan(45-® /2)'2-2 C tan(45-d /2)
y



F = (Fo+L fo) K"+ CL fo A
Fo=(Pe+Pw)x (Bs/2) °x Tt
fo= 1T cqgt
p '=tand =tan(g /2)

MU C

12167.660 kN

1013.159 kN
46.989 kN/m2
0.322

o (° )= sin-1{(Lp)/2(R - D/2))
nC )= Lp
K=1 /(cosa - k sina)
_n + 1
A =K K/(n (K - 1)) —
7
= 1 2 3 4 5 6 7
Bc(m) 1.78 1.78 1.78 1.78 1.78
Lp(m) 2.43 2.43 2.43 2.43 2.43
L(m) 30 0 65 0 25
CL(m) 0 50 0 30 0
R(m) 0 150 0 150 0
k 0.5 0.5 0.5 0.5 0.5
a () 0.000 0.934 0.000 0.934 0.000
a () 0.934 0.934 0.934 0.934 0.000
n( ) 0.000 20.576 0.000 12.346 0.000
K 1.008 1.008 1.008 1.008 1.000
K" 1.000 1.178 1.000 1.103 1.000
A 1.000 1.091 1.000 1.055 1.000
L fo 1409.670 3054.285 1174.725
C. fo A 2563.250 1487.202
Fo(kN) 0.000 0.000 0.000 0.000] 1013.159
F(kN) 12167.660] 10757.990] 6955.547| 3901.262| 2187.884
(m) 200.000] 170.000] 120.000 55.000 25.000
NO NO 0K 0K 0K
Fr:Fme Fa 7939.100 kN
F 7939.100 kN
Fme=8,000/1.00= 8000 kN
8000 kN
Fme 1.00
130.000 m

200.000m




r= 7939.100 N

. 1 2 3 4 5
Bc(m) 1.78 1.78 1.78
Lp(m) 2.43 2.43 2.43
L(m) 30 0 50
CL(m) 0 50 0
R(M) 0 150 0
K 0.5 0.5 0.5
a(°) 0.000 0.934 0.000
a(°) 0.934 0.934 0.000
n( ) 0.000|  20.576 0.000
K 1.008 1.008 1.000
K" 1.000 1.178 1.000
A 1.000 1.091 1.000
L fo 1409.670 2349.450
C. fo A 2563.250

Fo(kN) 0.000 0.000f 1013.159
F(kN) 7934.608| 6524.938] 3362.609
(m) 130.000]  100.000f  50.000

0K 0K 0K

7934.608 7939.1 a=130.000m




r= 7939.100 N

Fo=0
- 1 2 3 4 5

Bc(m) 1.78 1.78 1.78 1.78
Lp(m) 2.43 2.43 2.43 2.43
L(m) 30 0 65 0
CL(m) 0 50 0 6
R(M) 0 150 0 150
Kk 0.5 0.5 0.5 0.5
a () 0.000 0.934 0.000 0.934
a () 0.934 0.934 0.934 0.934
n(C ) 0.000 20.576 0.000 2.469
K 1.008 1.008 1.008 1.008
K" 1.000 1.178 1.000 1.020
A 1.000 1.091 1.000 1.014
L fo 1409.670 3054.285

CL fo A 2563.250 285.881
Fo(kN)

F(kN) 7908.167| 6498.497| 3340.166 285.881
(m) 151.000 121.000 71.000 6.000

OK OK OK OK

7908.167 7939.1 a=151.0m




1)

7939.100 kN
7000 kN
1.00
Fne=7,000/1.00= 7000 kN
r= 7000 N
- 1 2 3 4 5
Bc(m) 1.78 1.78 1.78
Lp(m) 2.43 2.43 2.43
L(m) 65 0 25
CL(m) 0 30 0
R(M) 0 150 0
K 0.5 0.5 0.5
a(°) 0.000 0.934 0.000
a(°) 0.934 0.934 0.000
n( ) 0.000f  12.346 0.000
K 1.008 1.008 1.000
K" 1.000 1.103 1.000
A 1.000 1.055 1.000
L fo 3054.285 1174.725
CL fo A 1487.202
Fo(kN) 0.000 0.000| 1013.159
F(kN) 6955.547| 3901.262| 2187.884
(m) 120.000]  55.000]  25.000
0K 0K 0K
6955.547 7000 a=120.0m

151.000

120.000

271.000

200.000 m 1




Fec sina =2 1/2 La Vv 2r qa ( 2003 P120)

Fac : (kN)
La: (m) = Lp/n r: (m)
n: -13.917 t 0579 L 10506 t L 2.033 n 10
t: 0.093 L: p
ga: Mr/0.239r?
Mr=0.318x xr 0.239x Xxr
1.5 Fasc=v 2 La r ga/ (15 sina )
1 2 3 4 5 6 7
- BC1 BC2
@ (mm) 1500 1500 1500 1500 1500
1 1 1 1 1
n 1.384 1.384 1.384 1.384 1.384
La(m) 1.76 1.76 1.76 1.76 1.76
r(m) 0.820 0.820 0.820 0.820 0.820
a ) 0.934 0.934
(KN/m) 50.100f 50.100f 50.100] 50.100] 50.100
(kN) 17.330 17.330 17.330 17.330 17.330
Ma(kN m) 16.460 16.460 16.460 16.460 16.460
ga_(kN/m2) 89.016f 102.425| 89.016]| 102.425| 89.016
Fasc(kN) 8529.209 8529.209
BC Fec(kN) 6524.938 3901.262
OK OK

S1=L D/ (Ro-D/2) ( 2003 P116)
S1: (m)
L: (m/ )
: (m)
Ro: (m)
1 2 3 4 5 6 7
- BC1 BC2

@ (mm) 1500 1500 1500 1500 1500
La(m) 2.43 2.43 2.43 2.43 2.43
D(m) 1.78 1.78 1.78 1.78 1.78
Ro(m) 150 150
S1( ) 29.0 29.0




S1

JSWAS A-2-1999 H.11

800-3,000mm)

MPa_ (KN/cm2) (mm)
0.1 (0.01) 30
0.2 (0.02) 40
0.2 (0.02) 60
JA
JB
JC
0.054 MPa 30 (mm)
29.0 (mm) 30 (mm)

C am



